Exercises

Exercise 2-1 (15 minutes)

	
	
	Type of
	Increase
	Normal

	
	Account
	Account
	(Dr. or Cr.)
	Balance

	a.
	Unearned Revenue

	liability
	credit
	credit

	b.
	Accounts Payable

	liability
	credit
	credit

	c.
	Postage Expense

	expense
	debit
	debit

	d.
	Prepaid Insurance

	asset
	debit
	debit

	e.
	Land

	asset
	debit
	debit

	f.
	Owner Capital

	equity
	credit
	credit

	g.
	Accounts Receivable

	asset
	debit
	debit

	h.
	Owner Withdrawals

	equity
	debit
	debit

	i.
	Cash

	asset
	debit
	debit

	j.
	Equipment

	asset
	debit
	debit

	k.
	Fees Earned

	revenue
	credit
	credit

	l.
	Wages Expense

	expense
	debit
	debit


Exercise 2-2 (15 minutes)

Of the items listed, the following effects should be included:

a.
$34,500 increase in a liability account.

b.
$7,500 increase in the Cash account.

e.
$48,000 increase in a revenue account.

Explanation:  This transaction created a $48,000 revenue, which equals the value of the service provided. Payment is received in the form of a $7,500 increase in cash, a $75,000 increase in the computer equipment, and a $34,500 increase in the company’s liabilities.  The net value received by the company is $48,000.

Exercise 2-3 (15 minutes)

	a.
	Beginning cash balance (debit)

	$           ? 

	
	Cash received in October (debits)

	97,500

	
	Cash disbursed in October (credits)

	(101,250)

	
	Ending cash balance (debit)

	$  16,800

	
	
	

	
	Beginning cash balance (debit)

	$  20,550

	
	
	

	b.
	Beginning accounts receivable (debit)

	$  97,500

	
	Sales on account in October (debits)

	     ?

	
	Collections on account in October (credits)

	(88,950)

	
	Ending accounts receivable (debit)

	$100,500

	
	
	

	
	Sales on account in October (debits)

	$  91,950

	
	
	

	c.
	Beginning accounts payable (credit)

	$147,000

	
	Purchases on account in October (credits)

	270,000

	
	Payments on accounts in October (debits)

	(           ?)   

	
	Ending accounts payable (credit)

	$136,500

	
	
	

	
	Payments on accounts in October (debits)

	$280,500


Exercise 2-4 (25 minutes)

Aug.
1
Cash

7,500



Photography Equipment

32,500





H. Paris, Capital


40,000



   
Owner investment in business.


1
Prepaid Insurance

3,000




Cash


3,000



   
Acquired 2 years of insurance coverage.

5
Office Supplies

1,400




Cash

1,400


   
Purchased office supplies.


20
Cash

2,650




Photography Fees Earned

2,650


   

Collected photography fees.


   31
Utilities Expense

875




Cash

875


   

Paid for August utilities.

Exercise 2-5 (30 minutes)

	Cash
	
	Photography Equipment

	Aug.  1
	7,500
	
	 Aug.   1
	3,000
	
	Aug.  1
	32,500
	
	

	        20
	2,650
	
	5
	1,400
	
	
	
	
	

	
	
	
	31
	875
	
	H. Paris, Capital

	Balance
	4,875
	
	
	
	
	
	
	Aug.  1
	40,000

	
	
	
	
	
	
	
	
	
	

	Office Supplies
	
	Photography Fees Earned

	Aug. 5
	1,400
	
	
	
	
	
	
	Aug. 20
	2,650

	
	
	
	
	

	Prepaid Insurance
	
	Utilities Expense

	Aug. 1
	3,000
	
	
	
	
	Aug. 31
	875
	
	


	POSE FOR PICS

	Trial Balance

	August 31

	
	        Debit
	
	     Credit

	Cash

	$  4,875
	
	

	Office supplies

	1,400
	
	

	Prepaid insurance

	3,000
	
	

	Photography equipment

	32,500
	
	

	H. Paris, Capital


	
	$40,000

	Photography fees earned

	
	         2,650

	Utilities expense

	       875
	
	______ 

	Totals

	$42,650
	
	$42,650


Exercise 2-6 (30 minutes)

	Cash
	
	Accounts Payable

	(a)
	12,750
	
	(b)
	375
	
	(e)
	7,050
	(c)
	7,050

	(d)
	1,500
	
	(e)
	7,050
	
	
	
	Balance
	0

	(h)
	1,125
	
	(g)
	525
	
	
	
	
	

	
	
	
	(i)
	1,000
	
	
	
	
	

	Balance
	6,425
	
	
	
	
	Dejonge, Capital

	
	
	
	
	
	
	
	
	(a)
	12,750

	
	
	
	
	
	
	
	
	Balance
	12,750

	
	
	
	
	
	
	
	
	
	

	Accounts Receivable
	
	Dejonge, Withdrawals

	(f)
	2,700
	
	(h)
	1,125
	
	(i)
	1,000
	
	

	Balance
	1,575
	
	
	
	
	Balance
	1,000
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


	Office Supplies
	
	Fees Earned

	(b)
	375
	
	
	
	
	
	
	(d)
	1,500

	Balance
	375
	
	
	
	
	
	
	(f)
	2,700

	
	
	
	
	
	
	
	
	Balance
	4,200

	
	
	
	
	
	
	
	
	
	

	Office Equipment
	
	Rent Expense

	(c)
	7,050
	
	
	
	
	(g)
	525
	
	

	Balance
	7,050
	
	
	
	
	Balance
	525
	
	


Exercise 2-7 (15 minutes)

	DEJONGE COMPANY

	Trial Balance

	May 31, 2005

	
	       Debit
	    Credit

	Cash

	$  6,425
	

	Accounts receivable

	1,575
	

	Office supplies

	375
	

	Office equipment

	7,050
	

	Accounts payable

	$         0

	R. Dejonge, Capital

	12,750

	R. Dejonge, Withdrawals

	1,000
	

	Fees earned

	4,200

	Rent expense

	      525
	______

	Totals

	$16,950
	$16,950


Exercise 2-8 (20 minutes)

Transactions that created revenues:

b.

Accounts Receivable

1,350

Services Revenue

1,350


 Provided services on credit.

c.

Cash

1,575

Services Revenue

1,575


 Provided services for cash.

[Note: Revenues are inflows of assets (or decreases in liabilities) received in exchange for goods or services provided to customers.]

Transactions that did not create revenues along with the reasons are:

a.
This transaction brought in cash, but this is an owner investment. 

d.
This transaction brought in cash, but it created a liability because the services have not yet been provided to the client.

e.
This transaction changed the form of the asset from accounts receivable to cash.  Total assets were not increased (revenue was recognized when the receivable was originally recorded).

f.
This transaction brought in cash and increased assets, but it also increased a liability by the same amount (no goods or services were provided to generate revenue).

Exercise 2-9  (20 minutes)

Transactions that created expenses:

b.

Salaries Expense

1,125

Cash

1,125


Paid salary of receptionist.

d.

Utilities Expense

930

Cash

930


Paid utilities for the office.

[Note: Expenses are outflows or using up of assets (or the creation of liabilities) that occur in the process of providing goods or services to customers.]

Transactions a, c, and e are not expenses for the following reasons:

a.
This transaction decreased assets in settlement of a previously existing liability, and equity did not change.  Cash payment does not mean the same as using up of assets (expense was recorded when the supplies were used).

c.
This transaction involves the purchase of an asset.  The form of the company’s assets changed, but total assets did not change, and the equity did not decrease.

e.
This transaction is a distribution of cash to the owner.  Even though equity decreased, the decrease did not occur in the process of providing goods or services to customers. 

Exercise 2-10 (15 minutes)

TECH TODAY

Income Statement

For Month Ended October 31

Revenues


Consulting fees earned


$17,000

Expenses


Salaries expense

$8,000


Rent expense

4,550


Telephone expense

560


Miscellaneous expenses

    280

Total expenses


  13,390

Net income


$ 3,610
Exercise 2-11  (15 minutes)

TECH TODAY

Statement of Owner’s Equity

For Month Ended October 31

M. Lue, Capital, October 1


$         0

Add:
Owner investment

$84,000


Net income (from Exercise 2-10)

  3,610
  87,610



87,610

Less:
Owner withdrawals


   (3,000)


M. Lue, Capital, October 31


$84,610
Exercise 2-12 (15 minutes)

TECH TODAY

Balance Sheet

October 31


Assets
   Liabilities

Cash

$  8,360
Accounts payable

$  8,000

Accounts receivable

17,000

Office supplies

3,250
               Equity
Office equipment

 18,000


Patents

  46,000
M. Lue, Capital

  84,610*
Total assets

 $92,610 
Total liabilities & equity
$92,610

* Amount from Exercise 2-11.

Exercise 2-13 (20 minutes)

	a.
	Assets
	-
	Liabilities
	=
	Equity

	Beginning of the year

	$   70,000
	-
	$30,000
	=
	$40,000

	End of the year

	115,000
	-
	46,000
	=
	  69,000

	Net increase in equity

	
	
	
	
	$29,000

	
	
	
	
	
	

	Net income

	
	
	
	
	$29,000


Since there were no additional investments or withdrawals, the net income for the year equals the net increase in owner's equity.

	b.
Net increase in equity

	$29,000

	
Add withdrawals (12 months @ $1,250)

	  15,000

	
Net income

	$44,000


The withdrawals were added back because they reduced equity without reducing income.

	c.
Net increase in equity

	$ 29,000

	
Less additional investment

	 (45,000)

	
Net loss

	$(16,000)


The investment was deducted because it increased equity without creating income.

	d.
Net increase in equity

	$29,000

	
Add withdrawals (12 months @ $1,250)

	  15,000

	
Gross increase in equity

	$44,000

	
	

	
Less additional investment

	 (25,000)

	
Net income

	$19,000


The withdrawals were added back because they reduced equity without reducing income and the investments were deducted because they increased equity without creating income.

Exercise 2-14 (15 minutes)

	
	(a)
	
	(b)
	
	(c)
	
	(d)

	Answers

	$(49,500)
	
	$72,000
	
	$73,000
	
	$(45,000)

	Computations:
	
	
	
	
	
	
	

	Equity, Dec. 31, 2004

	$          0
	
	$        0
	
	$        0
	
	$          0

	Owner's investments

	120,000
	
	72,000
	
	87,000
	
	210,000

	Owner's withdrawals

	(49,500)
	
	(54,000)
	
	(10,000)
	
	(55,000)

	Net income (loss)

	    31,500
	
	  81,000
	
	   (4,000)
	
	  (45,000)

	Equity, Dec. 31, 2005

	$102,000
	
	$99,000
	
	$73,000
	
	$110,000


Exercise 2-15 (25 minutes)

a.
D. Joy created a new business and invested $7,000 cash, $5,600 of equipment, and $11,000 in automobile(s).

b.
Paid $3,600 cash in advance for insurance coverage.

c.
Paid $600 cash for office supplies.

d.
Purchased $200 of office supplies and $9,400 of equipment on credit.

e.
Received $2,500 cash for delivery services provided.

f.
Paid $2,400 cash towards accounts payable.

g.
Paid $700 cash for gas and oil.

Exercise 2-16 (30 minutes)

a.
Cash

7,000


Equipment

5,600


Automobiles

11,000


D. Joy, Capital


23,600


Owner invested in the business.

b.
Prepaid Insurance

3,600


Cash


3,600


  
Purchased insurance coverage.
c.
Office Supplies

600


Cash


600


  
Purchased supplies with cash.

d.
Office Supplies

200


Equipment

9,400




Accounts Payable


9,600


 
Purchased supplies and equipment on credit.
e.
Cash

2,500


Delivery Services Revenue


2,500


  
Received cash from customer.
f.
Accounts Payable

2,400


Cash


2,400


  
Made payment on payables.
g.
Gas and Oil Expense

700


Cash


700


Paid for gas and oil.

Exercise 2-17 (20 minutes)

	
	
Description
	(1)
Difference between Debit and Credit Columns
	(2)
Column with the Larger Total
	(3)

Identify account(s) incorrectly stated
	(4)

Amount that account(s) is overstated or understated

	a.
	$2,400 debit to Rent Expense is posted as a $1,590 debit.
	$810 
	credit
	Rent Expense
	Rent Expense is understated by $810

	b.
	$4,050 credit to Cash is posted twice as two credits to Cash.
	$4,050
	credit
	Cash
	Cash is understated by $4,050

	c.
	$9,900 debit to the owner's withdrawals account is debited to owner's capital.
	$0 
	––
	Owner’s, Capital

Owner’s, Withdrawals
	Owner’s capital account is understated  by $9,900

Owner’s withdrawals is understated by $9,900

	d.
	$2,250 debit to Prepaid Insurance is posted as a debit to Insurance Expense.
	$0 
	––
	Prepaid Insurance 

Insurance Expense
	Prepaid Insurance is understated by $2,250 and Insurance Expense is overstated by $2,250

	e.
	$42,000 debit to Machinery is posted as a debit to Accounts Payable.
	$0 
	––
	 Machinery 

Accounts Payable
	Machinery is understated by $42,000 and Accounts Payable is understated by $42,000

	f.
	$4,950 credit to Services Revenue is posted as a $495 credit.
	$4,455 
	debit
	Services Revenue
	Services Revenue is understated by $4,455

	g.
	$1,440 debit to Store Supplies is not posted.
	$1,440 
	credit
	Store Supplies
	Store Supplies is understated by $1,440


Exercise 2-18 (15 minutes)

a.
The debit column is correctly stated because the erroneous debit (to Accounts Payable) is deducted from an account with a (larger assumed) credit balance.

b.
The credit column is understated by $33,900 because of the error in debiting the Accounts Payable account — it should have been credited.

c.
The Office Equipment account is correctly stated.

d.
The Accounts Payable account is understated by $33,900.  It should have been increased (credited) by $16,950 but the posting error decreased (debited) it by $16,950.

e.
The credit column is $33,900 less than the debit column, or $326,100 in total ($360,000 - $33,900).

Exercise 2-19  (15 minutes)

	a.
	Co.
	Liabilities
	/
	Assets
	=
	Debt

Ratio
	
	Net

Income
	/
	Average

Assets
	=
	ROA

	
	  1
	$12,000
	
	$ 90,500
	
	0.13
	
	$20,000
	
	$100,000
	
	0.200

	
	  2
	  47,000
	
	   64,000
	
	0.73
	
	  3,800
	
	   40,000
	
	0.095

	
	  3
	  26,500
	
	32,500
	
	0.82
	
	  660
	
	50,000
	
	0.013

	
	  4
	  56,000
	
	147,000
	
	0.38
	
	21,000
	
	200,000
	
	0.105

	
	  5
	  31,000
	
	92,000
	
	0.34
	
	7,500
	
	40,000
	
	0.188

	
	  6
	  51,500
	
	104,500
	
	0.49
	
	  12,000
	
	70,000
	
	0.171


b.
Company 3 relies most heavily on creditor (non-owner) financing with 82% of its assets financed by liabilities.

c.
Company 1 relies least on creditor (non-owner) financing at only 13%.  This implies that 87% of the assets are financed by equity (owners).

d.
The companies with the highest debt ratios indicate the greatest risk.  The two companies with the highest debt ratios are 2 and 3.

e.
Company 1 yields the highest return on assets at 20%; followed by Company 5 at 18.8%.

f.
As an investor, one prefers high returns at low risk.  Company 1 is the preferred investment since it yields the lowest risk (debt ratio is 13.3%) and highest return on assets (20%).

